



UNIVERSITY OF NOVI SAD Technical Faculty "Mihajlo Pupin" Zrenjanin, Republic of Serbia

Conference

XII International Conference Industrial Engineering and Environmental Protection IIZS 2022

PROCEEDINGS

Zrenjanin, Serbia, October 6-7, 2022.



University of Novi Sad Technical Faculty "Mihajlo Pupin" Zrenjanin, Republic of Serbia



XII International Conference -Industrial Engineering and Environmental Protection (IIZS 2022)

Proceedings

Zrenjanin, 6–7th, October 2022.

Proceedings of the XII International Conference - Industrial Engineering and Environmental Protection (IIZS 2022)

Conference organizer:

Technical Faculty "Mihajlo Pupin", Zrenjanin, University of Novi Sad, Republic of Serbia

Reviewers:

PhD Višnja Mihajlović, Technical Faculty "Mihajlo Pupin", Zrenjanin, Serbia PhD Slavica Prvulović, Technical Faculty "Mihajlo Pupin", Zrenjanin, Serbia PhD Snežana Filip, Technical Faculty "Mihajlo Pupin", Zrenjanin, Serbia PhD Ljiljana Radovanović, Technical Faculty "Mihajlo Pupin", Zrenjanin, Serbia PhD Bogdana Vujić, Technical Faculty "Mihajlo Pupin", Zrenjanin, Serbia PhD Eleonora Desnica, Technical Faculty "Mihajlo Pupin", Zrenjanin, Serbia PhD Vladimir Šinik, Technical Faculty "Mihajlo Pupin", Zrenjanin, Serbia PhD Jasmina Pekez, Technical Faculty "Mihajlo Pupin", Zrenjanin, Serbia PhD Zoran Čepić, Faculty of Technical Sciences. Novi Sad, Serbia PhD Nina Đapić, Technical Faculty "Mihajlo Pupin", Zrenjanin, Serbia PhD Milan Nikolić, Technical Faculty "Mihajlo Pupin", Zrenjanin, Serbia PhD Jelena Stojanov, Technical Faculty "Mihajlo Pupin", Zrenjanin, Serbia PhD Jasna Tolmač, Technical Faculty "Mihajlo Pupin", Zrenjanin, Serbia PhD Mihalj Bakator, Technical Faculty "Mihajlo Pupin", Zrenjanin, Serbia PhD Edit Terek Stojanović, Technical Faculty "Mihajlo Pupin", Zrenjanin, Serbia PhD Aleksandar Ašonja, Faculty of Economics and Engineering Management in Novi Sad, Serbia PhD Marina Naodović, Technical Faculty "Mihajlo Pupin", Zrenjanin, Serbia PhD Milija Kraišnik, Mechanical Faculty, East Sarajevo, Bosnia and Herzegovina

Publisher:

Technical Faculty "Mihajlo Pupin", Zrenjanin, University of Novi Sad, Đure Đakovića bb, 23101 Zrenjanin, Republic of Serbia

For publisher:

PhD Dragica Radosav, Dean of Technical Faculty "Mihajlo Pupin", Zrenjanin

Technical preparation:

MSc Luka Đorđević, Technical Faculty "Mihajlo Pupin", Zrenjanin, Republic of Serbia PhD Mića Đurđev, Technical Faculty "Mihajlo Pupin", Zrenjanin, Republic of Serbia MSc Borivoj Novaković, Technical Faculty "Mihajlo Pupin", Zrenjanin, Republic of Serbia PhD Marina Naodović, Technical Faculty "Mihajlo Pupin", Zrenjanin, Republic of Serbia PhD Jasna Tolmač, Technical Faculty "Mihajlo Pupin", Zrenjanin, Republic of Serbia

Organization of this Conference is supported by the Ministry of Education, Science and Technological Development, Republic of Serbia and The Provincial Secretariat for Higher Education and Scientific Research

CIP Classification:

CIP - Каталогизација у публикацији Библиотеке Матице српске, Нови Сад

62:005.3(082)(0.034.4) 502/504(082)(0.034.4)

INTERNATIONAL Conference Industrial Engineering and Environmental Protection (12; 2022; Zrenjanin)

Proceedings [Elektronski izvor] / XII International Conference Industrial Engineering and Environmental Protection (IIZS 2022), Zrenjanin, 6-7th October 2022. - Zrenjanin : Technical Faculty "Mihajlo Pupin", 2022. - 1 elektronski optički disk (CD-ROM) : tekst, ilustr. ; 12 cm

Sistemski zahtevi: Nisu navedeni. - Nasl. sa naslovnog ekrana. - Bibliografija uz svaki rad.

ISBN 978-86-7672-360-7

а) Индустријско инжењерство -- Зборници б) Животна средина -- Заштита -- Зборници

COBISS.SR-ID 77727753

CONTENTS

PLENARY SESSION

COMPACT UHF AMATEUR RADIO QUAD ANTENNA FOR INDOOR USE
(Tomislav Barić, Hrvoje Glavas)
SEISMIC VULNERABILITY OF MASONRY BUILDINGS BASED ON CALCULATION OF
STRUCUTRAL DAMAGES
(Marijana Hadzima-Nyarko, Gordana Pavic, Drzisłav Vidakovic, Ema Pusic)
UTILIZATION OF PM PREVENTION MEASURES ON CONSTRUCTION SITES IN NOVI SAD DURING 2021
(Miljan Šunjević, Boris Obrovski, Vladimir Rajs, Milena Šunjević)20
MULTICRITERIA ANALYSIS OF PREVENTIVE MEASURES IN ORDER TO REDUCE THE
RISK OF ACCIDENTS IN MINES WITH SURFACE OPERATIONS
(Dejan Bogdanović)

ORAL/POSTER PRESENTATION

Session 1: Mechanical Engineering

EXAMINING THE VALIDITY OF THE ES-EVT MODEL (Nenad Novaković)
DETERMINATION OF THE CRITICAL VELOCITY OF A FLUID FLOWING IN A NANOTUBE RESTING ON VISCOELASTIC FOUNDATION (Dimitar Loloy, Syetlana Lilkoya-Markoya)
METHODOLOGY FOR DETERMINING DIFFERENCES OSE IMPPELER SHAFT TURBINE UNI (Slobodan Juric, Slavica Prvulovic, Jasna Tolmac, Milos Josimovic, Milica Josimovic)
DEVELOPMENT OF THE MOLD DESIGN USING FRAME RULE REASONING (Ivan Matin, Branko Štrbac, Miloš Ranisavljev, Miodrag Hadžistević)
NEW DRYING SYSTEM CONCEPT OF SHELLED HAZELNUT (Mukrimin S. Guney, Musa Demir, Birkut Güler, Hakan Adatepe, Sertan Turan)57
MODELLING AND ANALYZES THE CATENARY SUSPENSION IN RAILWAY ELECTRIC TRACTION (Cristina Miklos, Imre Zsolt Miklos)61
HARDNESS TEST OF 3D PRINTED WORK PIECE FROM PLA PLASTIC (Dušan Jovanić, Valentina Mladenović, Dragan Halas)69

INVESTIGATION OF SHAPE ACCURACY OF SELECTIVE LASER MELTED TI6AL4V LATTICE STRUCTURE BY COMPUTER TOMOGRAPHY (Gergely Dezső, Ferenc Szigeti)
DESIGN PROCESS, OPTIMIZATION, AND LIFE-CYCLE ASSESSMENT OF THE MULTIPURPOSE BAG CLIP
(Ivan Grgić, Jure Marijić, Marko Vilić, Mirko Karakaŝić,
Eleonora Desnica, Jurica Semenić)
COMPARISON OF FAILURE DURATION AND FAILURE FREQUENCY OF MINING MACHINES USING THE KRUSKAL-WALLIS H TEST (ONE-WAY ANOVA ON RANKS) - PRELIMINARY RESEARCH (Martina Parišić Nada Panić Miriana Misita, Vasna Spasojavić Brkić, Namanja, Janay) 93
(Iviai tina i crisic, iveua i apic, ivin jana iviisita, v esna spasojević bi kić, iveinanja janev)
APPLICATION OF DIFFERENTIAL EQUATIONS IN VIBRATION ANALYSIS (Ljiljana Pecić, Violeta Đorđević, Marko Milivojčević)
MAIN WAYS ON WHICH STAINLESS STEELS COULD CORRODE (Zoran Karastojković, Jasmina Pekez, Milan Miladinov)107

Session 2: Energetics and Process Technique

COMPARISON BETWEEN FOUR AND FIVE PARAMETERS SORPTION ISOTHERM MODELS (Vangelce Mitrevski, Cvetanka Mitrevska, Ljupco Trajcevski)
THE INCREASE IN ENERGY EFFICIENCY OF (NANO)MATERIALS BY IMPROVING THEIR SUPERCONDUCTING PROPERTIES (Dušan I. Ilić, Jovan P. Šetrajčić, Siniša M. Vučenović)
INFLUENCE OF SUNSPACE PARTITION WALL THERMAL MASS ON THE ENERGY EFFICIENCY OF INDIVIDUAL RESIDENTIAL BUILDINGS (Ana Vukadinović, Jasmina Radosavljević, Amelija Đorđević, Milan Protić)129
ENERGY RECOVERY POSSIBILITIES DURING WORKING CYCLE OF WHEEL LOADERS (Jovan Pavlović, Vesna Jovanović, Nikola Petrović)
CONCEPTS FOR MUNICIPAL ENERGY COMMUNITIES IN AUSTRIA (Momir Tabakovic, Mihajlo Keseric)
ANALYSIS OF INSPECTION PLAN OF AIR COOLED HEAT EXCHANGER FOR NEEDS OF MAINTANCE AND SAFETY OF OIL&GAS PLANTS (Marko Jarić, Sanja Petronić, Nikola Budimir, Suzana Polić, Katarina Colić)150
HERB DRYING AT DIFFERENT TEMPERATURES (Nina Đapić)
BIOMASS PYROLYSIS AND GASIFICATION MODELING WITH COCO SIMULATOR (Emilija Dejanoska, Filip Todorovski, Andrej Senegačnik, Mihael Sekavčnik, Boštjan Drobnič)
ENVIRONMENTAL IMPACT ASSESSMENT OF PROTON EXCHANGE MEMBRANE FUEL CELL WITH ECO-DESIGN STRATEGIES FOR REALISTIC SHORT-TERM CONCEPT (Rok Stropnik, Felipe Campos-Carriedo, Jure Gramc, Andrej Lotrič, Laurent Rey, Eleonora
Bargiacchi, Diego Iribarren, Javier Dufour, Mitja Mori)

Session 3: Designing and Maintenance

CONNECTION AND COMMUNICATION IN THE CLUSTER OF BUILDINGS AND	
MECHANIZATIONS MAINTENANCE FOR THE REGIONAL COOPERATION	
(Krešimir Lacković, Zlatko Lacković, Milan Ivanović)	178
APPROACH TO DEVELOPMENT OF THE LEAN CONCEPT PROJECT	
(Bogdan Marić, Vlado Medaković)	184
REPAIR PROCEDURE OF CORE CASTING MACHINE-SHALCO U180	
(Eleonora Desnica, Dragan Brkin, Mića Đurđev, Ivan Palinkaš)	192
BASIC ASPECTS OF DESIGNING EXPLOITATION AND MAINTENANCE OF GRAIN	
STORAGE	
(Jasna Tolmač, Slavica Prvulović, Vladimir Sinik, Milan Marković)	200
ACTIVE SAFETY OF MODERN TRUCKS AND EXAMPLES OF INCIDENTS	
(Ervin Molnar, Jovan Dorić)	207
METHODS OF CALCULATING THE VOLUME OF THE PRESSURE TANK FOR THE	
PROTECTION OF PIPELINES AGAINST HYDRAULIC IMPACT	
(Jovana Radnović, Ljiljana Radovanović, Ivan Palinkaš, Jasmina Perišić)	213

Session 4: Health and Environmental Protection

EVALUATION OF AZOLLA AQUATIC MACROPHYTE POTENTIAL IN PYRENE AND PHENANTHRENE ACCUMULATION AND PHYTOREMEDIATION IN CONTAMINATED WATERS
(Mohammad Ali Zazouli, Alireza Ala, Somayeh Asghari, Esmaeil Babanezhad)222
ANALYSIS OF AIR POLLUTION WITH R LANGUAGE (Zoltan Kazi, Snežana Filip, Maria Kazi, Dragana Banović)
LITHIUM ION BATTERY RECYCLING AND STATE IN THE REPUBLIC OF SERBIA (Snežana Filip, Branislav Leleš, Zoltan Kazi)
MACROPHYTES AS INDICATORS OF ECOLOGICAL STATE OF SURFACE WATER (Ivana Krtolica, Snežana Radulović, Dušanka Cvijanović)247
AGRICULTURE AND THE IMPACT OF AN INVISIBLE THREAT (Timotei Bogdan Bacoş, Adrian Eugen Cioablă, Francisc Popescu)252
BIOGAS APPLICATIONS AT SMALL LABORATORY SCALE: COMPARATIVE TESTING FOR DIFFERENT MATERIAL SOLUTIONS (Bogdan Timotei Bacoş, Bogdana Vujić)
ENVIRONMENTAL RISK ASSESSMENT OF PHTHALATES IN SURFACE AND WASTEWATER (Sremački Maja, Nevena Živančev, Mirjana Vojinović Miloradov, Ivan Španik)261
IMPACT OF LANDFILL FIRES ON AIR QUALITY IN SERBIA (Igor Jezdimirović, Zoran Čepić, Nemanja Stanisavljević, Xiaoming Wang, Višnja Mihajlović)

Session 5: Environmental Management and Occupational Safety

DEVELOPING A METHODOLOGY FOR ESTIMATING THE COSTS OF ACCIDENTS AND ILLNESSES AT THE WORKPLACE	
(Ljupco Trajcevski, Vangelce Mitrevski, Cvetanka Mitrevska)	.335
KNOWLEDGE ASSESSMENT OF WASTE MANAGEMENT WORKERS IN DEBAR	
REGARDING OCCUPATIONAL SAFETY AND HEALTH	
(Hadisa Nasufi, Monika Lutovska, Vladimir Mijakovski)	.343
ASSESSMENT OF BUILDING STOCK: CASE STUDY OF NOVI SAD	
(Nikola Karanovic)	.349

GREEN MANAGEMENT OF HUMAN RESOURCES AND GREEN BEHAVIOR OF EMPLOYEES IN MODERN ORGANIZATIONS	
(Dragana Kovač, Edit Terek Stojanović, Mila Kavalić, Verica Gluvakov, Maja Gaborov)3	353
SIGNIFICANCE OF CONTROL INSPECTIONS OF ELECTRIC TWO-GIRDER BRIDGE CRAN IN ORDER TO INCREASE SAFETY AND SECURITY AT WORK (Jarčević Duška, Lijliana Badovanović, Jasmina Perišić)	E
DODUCTNESS ESTIMATION OF DISODETE SYSTEMS WITH UNCEDTAIN DADA METEDS)]]
(Bojana M. Zlatković, Biljana Samardžić)	367
SENSITIVITY OF MIMO CASCADE NONLINEAR SYSTEMS TO PARAMETER VARIATION (Bojana M. Zlatković, Biljana Samardžić)	S 373

Session 6: Engineering Management

COMPARATIVE RESEARCH OF THE APPLICATION OF THE INDUSTRY 4.0 CONCEPT IN	,
(Dragan D. Milanovic, Svetlana Dabic Miletic, Ljiljana Pecic)	381
MODELING OF MASHHAD HEALTH TOURISM USING ISM (Ali Reza Afshari, Ahmad Baghi, Sanja Stanisavljev)	387
ENTREPRENEURIAL BEHAVIOR AS A PREREQUISITE FOR THE DEVELOPMENT OF MODERN BUSINESS (Mihali Bakator, Deian Đorđević, Dragan Ćoćkalo,	
Sanja Stanisavljev, Dragana Kovač, Edit Terek Stojanović)	393
SUSTAINABLE BUSINESS IN THE CONDITIONS OF GLOBAL CHANGE (<u>Dejan Đorđević,</u> Dragan Ćoćkalo, Cariša Bešić, Mihalj Bakator, Ljiljana Đorđević)	398
BUILDING MANAGEMENT - MODERN TENDENCIES (Stanko P. Stankov)	403

Session 7: Students session

THE ROLE OF ORGANIZATIONAL BEHAVIOR IN THE DEVELOPMENT OF QUALITY ANI RESPONSIBLE BUSINESS)
(Biljana Maljugić, Srđana Taboroši)4	14
AUTOMOTIVE ERGONOMIC, THERMAL ANALYSIS OF DIFFERENT DRIVING POSITIONS (Alexandru Dumitru Antonie, Adrian Eugen Cioablă, Luisa Izabel Dungan)4	3 20
THE IMPORTANCE OF ENVIRONMENTAL MANAGEMENT AND PROTECTION IN THE FOOD INDUSTRY WITH THE APPLICATION OF INDUSTRY 5.0	
(Aleksandra Kovačević)4	25
RISK MANAGEMENT IN CRISIS TIMES (Biljana Maljugić, Marija Matotek Anđelić)4	.30
THE ROLE OF CONSULTING ORGANIZATIONS IN THE INTRODUCTION OF QUALITY 5.0 (Dijana Tadić Stanić)4) ·36

THE INFLUENCE OF THE FOURTH AND FIFTH INDUSTRIAL REVOLUTIONS ON	
CONSULTANCY COMPANIES	
(Dijana Tadić Stanić)	.441
TECHNO-ECONOMIC ANALYSIS OF THE SOLAR POWER PLANT IN THE TOWN OF	
ZRENJANIN	
(Luka Đorđević, Jasmina Pekez, Borivoj Novaković, Mića Đurđev, Dejan Bajić)	.446

SOLAR ENERGY AND ENERGETIC INDEPENDENCE OF AN OBJECT (Dejan Bajić, Luka Đorđević, Borivoj Novaković, Milan Marković, Verica Gluvakov)......454

COMPARISON OF FAILURE DURATION AND FAILURE FREQUENCY OF MINING MACHINES USING THE KRUSKAL-WALLIS H TEST (ONE-WAY ANOVA ON RANKS) -PRELIMINARY RESEARCH

Martina Perišić¹, Neda Papić¹, Mirjana Misita¹, Vesna Spasojević Brkić¹, Nemanja Janev¹ ¹University of Belgrade, Faculty of Mechanical Engineering, Belgrade, Serbia e-mail: npapic@mas.bg.ac.rs

Abstract: Mining is considered one of the most risky industrial operations. Development and application of risk assessment methods has the greatest impact on improvements in terms of safety in mining equipment. Risk is analyzed in many aspects i.e. human factor, environmental impact and operational aspects. Analyzing the mining machinery is a way to determine which ones have the greatest tendency to fail. The aim of this research is to compare data on failures obtained from 348 mining machines. All machines are arranged in 7 groups, namely 50 excavators, 50 bulldozers, 48 drills, 50 dumpers, 50 backhoe loaders, 50 bucket wheel excavators and 50 loaders. In order to compare the data, it is necessary to first determine the distribution under which the data belong. That is achieved by using Kolmogorov-Smirnov test. After that the Kruskal-Wallis test was used to determine whether there is a relationship between the machines, viewed from the aspects of failure duration and failure frequency.

Key words: risk assessment, mining machinery, Kolmogorov – Smirnov normality test, Kruskal - Wallis H Test (one-way ANOVA on ranks)

INTRODUCTION

Mining is considered one of the most risky industrial operations, and the accidents that occur leave great consequences, namely economic, operational, as well as environmental and health and safety consequences. Development and application of risk assessment methods has the greatest impact on improvements in terms of safety in mining equipment. Recognizing the need for risk analysis leads to the realization of the necessary efficiency and effectiveness of the system [1]. Recently, interest in risk assessment and management in the mining industry has a growing path, and this is confirmed by the increasing number of reports dealing with this topic. Risk is analyzed in many aspects i.e. human factor, environmental impact and operational aspects. Systematic maintenance is one of the basic factors for the normal functioning of the system, and this can be achieved by analyzing the mining machinery to determine which ones have the greatest tendency to fail [2].

LITERATURE REVIEW

Tubis et al. [3] proposed a systematic review of risk assessment methods in mining industry. They selected 94 papers in that area. Based on the results obtained from different databases, they identified the biggest gaps in research in this area. Groves et al. [4] used Mine Safety and Health Administration (MSHA) and Current Population Survey (CPS) to examine injuries which are equipment-related in mining industry and came to conclusion that off-road ore haulage was the most common source of injuries and fatalities. Petrovic et al. [2] used fuzzy sets theory, fuzzy logic and min–max composition to show risk assessment of coal mine technical system. They compared these methods to FMEA method with standard RPN calculating, showing that fuzzy methodology has more advantages. Joy [5] in addition to risk assessment methodology, also considered incident and accident aspects of risk in mining industry. Badri et al. [6] presented new practical approach to risk management using Analytic Hierarchy Process (AHP) and discussed importance of taking occupational health and safety (OHS) into account when talking about all mining activities. Md-Nor et al. [7] presented the results of research which characterized risks of fatal incidents in US mining. Mikhailov et al. [8] considered the environmental aspect of risk management and came up with a package of ecological risk reduction

measures. Nawrocki et al. [9] used fuzzy logic to compare operational risk in mining enterprises in Central and Eastern Europe from two perspectives: internal and industrial.

METHODOLOGY

The aim of this research is to compare data on failures obtained from 348 mining machines. All machines are arranged in 7 groups, namely 50 excavators, 50 bulldozers, 48 drills, 50 dumpers, 50 backhoe loaders, 50 bucket wheel excavators and 50 loaders. In order to compare the data, it is necessary to first determine the distribution under which the data belong. For determining the distribution, when processing more than 50 data, the Kolmogorov - Smirnov test is used. With this test, if the level of significance is p>0.05, we can say that the data belong to the Gaussian distribution, while in the case of p<0.05, the data do not behave according to it [10]. When it is determined which distribution the data belong to, it is necessary to use parametric or non-parametric tests. When the data behave according to the normal distribution, parametric tests must be used. Some of them are Mann-Whitney U test or Kruskal-Wallis test. Given that more than 2 samples are taken into account in this paper, the Kruskal-Wallis test was used.

RESULTS

Kolmogorov – Smirnov normality test

The conducted research included the collected data of 7 different types of mining machines, namely 50 excavators, 50 bulldozers, 48 drills, 50 dumpers, 50 backhoe loaders, 50 bucket wheel excavators and 50 loaders. The aim of the research was to determine whether there is a relationship between the machines, viewed from the aspects of failure duration and failure frequency. In order to be able to approach the comparison of machines, that is, to choose an adequate test, descriptive statistics were first determined, in order to determine whether the data are subject to a Gaussian distribution. For samples greater than 50, the Komologorov-Smirnov test is used [10]. If the level of significance is p>0.05, it can be said that the data follows a normal distribution [10]. The normality test was performed using SPSS software. The results of the Komologorov-Smirnov test are given in table 1 for the criteria of duration of failure and frequency of failure.

Tuble 1. Toffmanty test results				
	Kolmogorov-Smirnov ^a			
	Statistic	df	Sig.	
Failure Duration	0.278	298	0.000	
Failure Frequency	0.278	298	0.000	

 Table 1. Normality test results

Given that the level of significance p in both criteria is less than 0.05, it can be concluded that the data do not follow a normal distribution, and this is also shown on the histograms (figures 1 and 2).



Fig. 1. Histogram of machine failure duration



Fig. 2. Histogram of failure frequency

Kruskal - Wallis H Test (one-way ANOVA on ranks)

After the Komologorov-Smirnov test, the Kruskal-Wallis H test was selected as adequate. The results of the comparison of failure duration are given in Table 2, while the relationships between them are given in Figure 3, and the results of the comparison of failure frequency are given in Table 3, and their

relationships are in Figure 4. In the software, the significance level is set to 5%, while the confidence interval is 95%.



Each node shows the sample average rank of TypeofMachine. Fig. 3. Relationships between the failure duration of the observed machines

Table 2. Results of the comparison of	of the duration of failure of	of mining machines
---------------------------------------	-------------------------------	--------------------

Sample 1-Sample 2	Test	Std. Error	Std. Test	Sig.	Adj.Sig.
	Statistic		Statistic	_	
DRILL - BULLDOZER	34.881	17.079	2.042	0.041	0.864
DRILL - LOADER	-71.261	17.079	-4.172	0.000	0.001
DRILL - BACKHOE	71.491	17.079	4.186	0.000	0.001
LOADER					
DRILL - EXCAVATOR	-78.451	17.079	-4.593	0.000	0.000
DRILL - DUMPER	-85.251	17.079	-4.992	0.000	0.000
BULLDOZER - LOADER	-36.380	16.904	-2.152	0.031	0.659
BULLDOZER - BACKHOE	-36.610	16.904	-2.166	0.030	0.637
LOADER					
BULLDOZER -	-43.570	16.904	-2.578	0.010	0.209
EXCAVATOR					
BULLDOZER - DUMPER	-50.370	16.904	-2.980	0.003	0.061
LOADER - BACKHOE	0.230	16.904	0.014	0.989	1.000
LOADER					
LOADER - EXCAVATOR	7.190	16.904	0.425	0.671	1.000
LOADER - DUMPER	13.990	16.904	0.828	0.408	1.000
BACKHOE LOADER -	-6.960	16.904	-0.412	0.681	1.000
EXCAVATOR					
BACKHOE LOADER -	-13.760	16.904	-0.814	0.416	1.000
DUMPER					
EXCAVATOR - DUMPER	6.800	16.904	0.402	0.687	1.000

Each row tests the null hypothesis that the Sample 1 and Sample 2 distributions are the same. Asymptotic significances (2-side tests) are displayed. The significance level is 0.05.



Each node shows the sample average rank of TypeofMachine. **Fig. 4.** Relationships between failure frequency of observed machines

Table 3. Results of the comparison of the frequency of failure of mining machines					
Sample 1-Sample 2	Test	Std. Error	Std. Test	Sig.	Adj.Sig.
	Statistic		Statistic		
BUCKET WHEEL	116,729	20.055	5.820	0.000	0.000
EXCAVATOR - DRILL					
BUCKET WHEEL	151.610	19.849	7.638	0.000	0.000
EXCAVATOR -					
BULLDOZER					
BUCKET WHEEL	187.990	19.849	9.471	0.000	0.000
EXCAVATOR - LOADER					
BUCKET WHEEL	188.220	19.849	9.482	0.000	0.000
EXCAVATOR - BACKHOE					
LOADER					
BUCKET WHEEL	195.180	19.849	9.833	0.000	0.000
EXCAVATOR -					
EXCAVATOR					
BUCKET WHEEL	201.980	19.849	10.176	0.000	0.000
EXCAVATOR - DUMPER					
DRILL - BULLDOZER	34.881	20.055	1.739	0.082	1.000
DRILL - LOADER	-71.261	20.055	-3.553	0.000	0.008
DRILL - BACKHOE	71.491	20.055	3.565	0.000	0.008
LOADER					
DRILL - EXCAVATOR	-78.451	20.055	-3.912	0.000	0.002
DRILL - DUMPER	-85.251	20.055	-4.251	0.000	0.000
BULLDOZER - LOADER	-36.380	19.849	-1.833	0.067	1.000
BULLDOZER - BACKHOE	-36.610	19.849	-1.844	0.065	1.000
LOADER					
BULLDOZER -	-43.570	19.849	-2.195	0.028	0.591
EXCAVATOR					
BULLDOZER - DUMPER	-50.370	19.849	-2.538	0.011	0.234
LOADER - BACKHOE	0.230	19.849	0.012	0.991	1.000
LOADER					
LOADER - EXCAVATOR	7.190	19.849	0.362	0.717	1.000
LOADER - DUMPER	13.990	19.849	0.705	0.481	1.000
BACKHOE LOADER -	-6.960	19.849	-0.351	0.726	1.000
EXCAVATOR					
BACKHOE LOADER -	-13.760	19.849	-0.693	0.488	1.000
DUMPER					
EXCAVATOR - DUMPER	6.800	19.849	0.343	0.732	1.000

CONCLUSION

After preliminary research, and based on the research conducted, it can be concluded that there is a significant difference in the data regarding the duration of failure between the drill and the loader, then between the drill and the backhoe loader, the drill and the excavator and the drill and the dumper. There is no statistically significant difference in the data between the other machines. From the point of view of the frequency of failures, there are differences between bucket wheel excavator and backhoe loader, bucket wheel excavator and bulldozer, bucket wheel excavator and drill, bucket wheel excavator, drill and dumper, bucket wheel excavator, drill and combine and drill and loader. In other cases, there is no significant difference between the data on the frequency of dismissal.

Research and analysis like this could be further developed in a way that is much more detailed, and for that a larger sample of data would be needed, so that the results would be more accurate.

By increasing the sample size with more precise results, we could achieve concrete guidelines for the further management of such a system, as well as the introduction of new measures to reduce risk, and therefore better results of the mining system such as this one.

ACKNOWLEDGEMENT

The paper is supported by grants from the Ministry of Education, Science and Technological Development under contracts 451-03-68/2022-14/200105 (SUBPROJECT tr 35017), Safera RESMOD and E!13300 - Hoisting and mining machinery context specific adaptive risk prevention expert system.

REFERENCES

[1] P. Kumar and A. Kumar, "Methods for Risk Management of Mining Excavator through FMEA and FMECA," p. 7.

[2] D. V. Petrović, M. Tanasijević, V. Milić, N. Lilić, S. Stojadinović, and I. Svrkota, "Risk assessment model of mining equipment failure based on fuzzy logic," *Expert Syst. Appl.*, vol. 41, no. 18, pp. 8157–8164, Dec. 2014, doi: 10.1016/j.eswa.2014.06.042.

[3] A. Tubis, S. Werbińska-Wojciechowska, and A. Wroblewski, "Risk Assessment Methods in Mining Industry—A Systematic Review," *Appl. Sci.*, vol. 10, no. 15, Art. no. 15, Jan. 2020, doi: 10.3390/app10155172.

[4] W. A. Groves, V. J. Kecojevic, and D. Komljenovic, "Analysis of fatalities and injuries involving mining equipment," *J. Safety Res.*, vol. 38, no. 4, pp. 461–470, Jan. 2007, doi: 10.1016/j.jsr.2007.03.011.

[5] J. Joy, "Occupational safety risk management in Australian mining," *Occup. Med.*, vol. 54, no. 5, pp. 311–315, Aug. 2004, doi: 10.1093/occmed/kqh074.

[6] A. Badri, S. Nadeau, and A. Gbodossou, "A new practical approach to risk management for underground mining project in Quebec," *J. Loss Prev. Process Ind.*, vol. 26, no. 6, pp. 1145–1158, Nov. 2013, doi: 10.1016/j.jlp.2013.04.014.

[7] Z. Md-Nor, V. Kecojevic, D. Komljenovic, and W. Groves, "Risk assessment for loaderand dozer-related fatal incidents in U.S. mining," *Int. J. Inj. Contr. Saf. Promot.*, vol. 15, no. 2, pp. 65–75, Jun. 2008, doi: 10.1080/17457300801977261.

[8] V. G. Mikhailov, A. G. Koryakov, and G. S. Mikhailov, "Ecological risk management in coal mining and processing," *J. Min. Sci.*, vol. 51, no. 5, pp. 930–936, Sep. 2015, doi: 10.1134/S1062739115050101.

[9] T. L. Nawrocki and I. Jonek-Kowalska, "Assessing operational risk in coal mining enterprises – Internal, industrial and international perspectives," *Resour. Policy*, vol. 48, pp. 50–67, Jun. 2016, doi: 10.1016/j.resourpol.2016.02.008.

[10] P. Mishra, C. Pandey, U. Singh, A. Gupta, C. Sahu, and A. Keshri, "Descriptive statistics and normality tests for statistical data," *Ann. Card. Anaesth.*, vol. 22, no. 1, p. 67, 2019, doi: 10.4103/aca.ACA_157_18.